
�� X �4BCE �R%, l
 CX ⊥ BD, = AC ⊥ BD. �

7. ���ê n = 2α · q, Ù¥ α��K�ê, q�Ûê. y²: é?¿��ê

m, �§ x21 + x22 + · · ·+ x2n = m��ê) (x1, x2, · · · , xn)��êU� 2α+1�Ø.

(�2É øK)

y{� ��§ x21 + x22 + · · · + x2n = m�)��ê� N(m). � (x1, x2,

· · · , xn)´�§ x21 + x22 + · · · + x2n = m����K�ê). Ø��Ù¥k k�

�"�, 5¿� (x1, x2, · · · , xn)�z�©þk�Kü«�¹, KTÐéA��§

� 2k ��ê). � Sk ´T�§�Tk k (k = 1, 2, · · · , n)��"���K�ê

)��ê. K

N(m) =
n∑
k=1

2k · Sk.

Ï� k��"���K�ê)k
(
n
k

)
« ��À, �

(
n
k

)
| Sk.

��y² 2α+1 | N(m), �Iy²: 2α−k+1 |
(
n
k

)
.

5¿�
(
n
k

)
= n(n−1)···(n−k+1)

k!
, ©f¥ 2 �Ïf�ê��� α, 
©1¥� 2

�Ïf�ê�
[log2 k]∑
i=1

[
k

2i
] <

∞∑
i=1

k

2i
= k,

�©1� 2 �Ïf�õk k − 1�, ¤± 2α−k+1 |
(
n
k

)
. = 2α−k+1 | N(m). �

µ5 ù�¯K¥�y² 2α−k+1 |
(
n
k

)
, ¢S��±^ Kummer ½n?n.

Kummer ½n´�: � n, i´��ê� i ≤ n, p´�ê, K pt ‖
(
n
k

)
��=�3 p

?�¥, (n− i) + iu)
�õ t (t ≥ 0)g? .

y{� P f(n,m)�T�§�ê)��ê. Äky²Xe'u f(n,m)�

4í'X:

ÚÚÚnnn f(2n,m) = 2f(n,m) +
m−1∑
k=1

f(n, k)f(n,m− k).

Úny² � (x1, x2, · · · , x2n)´�§ x21 + x22 + · · ·+ x22n = m���). �

x21 + x22 + · · ·+ x2n = k.

e k = 0, K (x1, x2, · · · , xn) = (0, 0, · · · , 0), � x2n+1+x2n+2+ · · ·+x22n = m,

ù�� (xn+1, xn+2, · · · , x2n)k f(n,m)|. �� k = 0�, ��§k f(n,m)|

).

Ón��, � k = m�, ��§�k f(n,m)|).

� 1 ≤ k ≤ m − 1� k���ê�, �§ x21 + x22 + · · · + x2n = kk f(n, k)
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